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S AT A A (J—2%) L = 1350 m 35 | &
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RPU AT ZE5 {1l B300 X H500 4.0 m
RPU AT Z5 {1l B300 X H6E00 40| m
RPU AT ZE5 i B300 X H700 78 m
RPU AT ZE5 Il B300 X H800 4.0 m
RPUA W (G B300 X H300 28] m
UZL A 320%8 274 m
300

DO% (HERH) 1.4 m

LA Kt H=0.55 1.0 | f&7T

25 Skt H=1.00 1.0 | f&7T
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RPU R 2 {H[7EB300 X H400

329 y— RE300 420
(X2
N % ISRPUAZRIE R
B300 x H400~800 fBIBIRAE H1 H2 | Figh
B300x H400 | 400 75 76
B300xH500 | 500 80 102
= B300xH600 | 600 80 105
B300xH700 | 700 85 119
N N N 1 — =
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)
BEITYIN—FY
100_| 380 100
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Za P Mo# Y BoEOHA
RPURIZE{RI#B300 X H400 10.0 m %4V
HAEITY Yy —T
FERERA t=10cm 058 X 0.10 X 10.00 0.58 | m3
2L 1:3 0.38 X 0.03 X 10.00 0.11 | m3
F¥h
Av 3 —par7)—k 18-20-8 0.30 X 0.076 X 10.00 0.23 | m3
RPURTZ AT 300X 400 10.00 = 2.00 5.00 &
RPU AT ZE 1 300%400%2000
NP W=450kg 10.00 10.00 | m
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RPU/{HINE 25 300/ 10.00 = 0.50 20.00 |
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F¥h
Av 3 —par7)—k 18-20-8 0.30 X 0.102 X 10.00 0.31 | m3
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BEITG Y —T
FLRER t=10cm 0.66 X 0.10 X 10.00 0.66 | m3
e HL 1:3 0.46 X 0.03 X 10.00 0.14 | m3
RPU/HITE
K2 A7 300X 300 10.00 + 1.00 10.00 | {&
RPU{RITH: 300%300%1000
EiciNAD) W=295kg 10.00 10.00 | m
RPUI SOOI
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BB Gt 5B

UZYRI%300B
400
50, 300 50
UZ! {83008
238
|
o
g 260
™
3
o | _*M
« (1:3)
N
100 300 100 HERa
(RC-40)
500
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BEEAE RPU#% b
2 300 x 260 (@) {al;%
o w e 300 x 300
; q =
B NERBEE
(RC-40)
50 800 50
900
4 i3 M Bt A=Y B HYr
1 B4E K #E(H=0.55) 1.0 f&pT | %40
BAEITyv—T
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o 7Y—h 18-20-8 0.800 X 0.800 X 0.700—(0.500 X 0.500 X 0.550+0.260 X 0.150) 0.27 | m
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